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(4) (%)) 1 like going out better. L
7 |But I don't know (  which to choose to go ) to Hachinohe.
(1) | £ |but the fareis (  the highest of the three ).
7 But ( I have no idea how ) I should spend time until the bus leaves.
(2) (#1) high
@ (#1) T want to make Japanese paper because the fee is not high and it sounds interesting.
ol
M| A 4 B 2
7 |(#]) How long did you work there?
@ |« (#5) What did she tell you?
7 |(#) Did they listen to you better? FERE
(@) || (D Ei\wﬁa) 1 |PLEET2LDT | o) (%0 1E 5,592:2500
1 [(#]) No, he hasn't.
(2) | 2 |(#]) He studied it at the library.
3 |(B1) It is to reduce the amount of plastic garbage.
1 |(#1) I also want to join a volunteer activity like this.
(3)
2 (%) I think that it is important to think what we should do in our lives. . 21
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